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Solution a, We. Sh thal orea(ARBC) = orealsRUT). The some.  prook-
can be oplied 4o srow thak orea(8Q8.0) =oren(BRUT).
Summna‘“\w. two G\M\'M \«\h e, desived vl
Fik, ederd M, goalll b S0 and write 5 Gor the
intersection QM\- witw 7.0, (sce cism.\ Now, MSC i a
pelaore by comshvackion- T Yos Hhe some bt cd e
Wit o5 fe udelogmn BRC - Ve dhoved in g s il

area (AORC) =0ra(ARSC)Y, m \
Now, tle pnn\\tl%mn ARAT Vg bose T whnide oy ooms - 2
touchion , is el in leth fo SC. Since. ARSC i cortoind
in the sume qualds a5 ARUT, e stme cesal o8 before ghvs

area (AR0) = ana (RAT). )
(mkmb ) ard (2 | e ae\' aveal AGPCY = oren(PR T - s
finids Y Qﬂt&

b Suppose. that ZACB =k ond thak APRC, B0, are som.
By condudion, we, Vaur, ho .
298 =4k -(LNR tLNB /BB = b |

And, CPSQ, is o pralelogram ; mesning 1CQa\=1PS1 by a %,
veslf from Eudd (pualleogoms Yove opgoste sides of = b
longh. Lashy, £CRS =2k - £CRP, = k. Now, by S, n
ChS i Congruent to MBC and 1S\= 1ABL. Conseqaedly, The \ 4
poealloyorm  ARR,B il i Qous el sides of lewbh 1A%,
Now, e w)mn\' (S (when extended) wolec On onde it
A eqpel o £BAC*LQ,C5. Bub, cane prouss o befoe Show
(S0 (5 Gonguank to MRC. Thas,  2BAC *£8:(S =CoACs (AL =) .
1\\“ (me\izs S\ 15 guptvs(\iw\u b M. Thes, MRRD % @ e,

Méq(nq prt gves P Mm LT

<
sl

Qo




